
	Ф И_________________________
	Ф И

	В а р и а н т  1
	В а р и а н т  2

	1. Запишите в стандартном виде число:
	1. Запишите в стандартном виде число:

	а) 70000=
	а) 900000=

	б) 60,3=
	б) 800,5=

	в) 14200,5=
	в) 2400,8=

	г) 0,56=
	г) 0,73=

	д) 28 · 105 =
	д) 47 · 104=

	е) 563 · 10–4=
	е) 672 · 10–5=

	ж) 0,031 · 106=
	ж) 0,0055 · 107=

	з) 0,0077 · 10–2=
	з) 0,046 · 10–3=

	2. Выполните действия:
	2. Выполните действия:

	а) (1,5 · 10–3) · (9,2 · 10–4)=


	а) (7,8 · 10–4) · (3,5 · 10–6)=


	б) (1,56 · 10–2) : (2,6 · 10–6=



	б) (3,36 · 10–3) : (4,8 · 10–7)=


	в) 5,1 · 105 + 2,9 · 106.=



	в) 5,2 · 104 + 2,8 · 105=
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